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int b=7%3; () o
System.out.print ("a=");

System.out.println( a );

System.out.print ("b=");
System.out.println( b );
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int x = -99;
System.out.println("x=" + X ); 4fxd6§§
System.out.println("(x>0)=" + (x>0));  (x>0)=false
System.out.println("(x<0)=" + (x<0)); (x<0)=r
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1int X = -99;

System.out.println("x=" + x);
Y it true
i

System.out.println("x is positive.");
flee ( }

int(x = 100; )

if (x > 0) {
System.out.println("x is positive.");

}
if (x < 0) {

System.out.println("x is negative.");

}
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int x = -99;
int x = 100;
int x = 0;

if (i:g::@» System.out.println("x is positive.");

if (:::::E) System.out.println("x is negative.");

if System.out.println("x is zero.");
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if (x > E]} System.out.println("x is positive."); (T)T’i

< E]) System.out.println("x is negative."); (XSO)
lse System.out.println("x is zero.");
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if (true) System.out.println("always true");

if (false) System.out.println("always false");
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int X = 100;
boolean b = true;
// b =20;
b = true; _ D
b = false; b — X 7
b = (x > 0); N J
b =x>0; o 1 4 212
System.out.println(b); =S 2A
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int x = 100;

if ( (x%2) == 0) System.out.println("x is even");

else System.out.println("x is odd");
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if ((i%2) == 0) System.out.println("i=" + i + " 1is even");
else System.out.println("i=" + i + " 1is odd");

i=0 is even

i=1is odd
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i=3 is odd

i=4 is even
i=5is odd
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i=6 is even

i=7 is odd
i=8 is even

i=9 is odd
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if ( A) B;

else C;
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if ( A) B;
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if(A){Bl;B2; B3, }
{C1;C2;}

else
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for {izit: cond; upd ate) {
statements -
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while (cond) {
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do {

C update
statements

} while (cond);
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int n, S;

S=0;
for (n=1; n<=5; ++n) {
System.out.println("old S=" + S);

System.out.println(" n=" + n);
S=5+n;
System.out.println("new S=" + S);
System.out.println("-------------------- ")
}
S = ® 4)

new ¢ o)A P e

S= (oe\) 2

neo g o)A P h=2

92 (o+Vt2) + 3

neo 3 oYA S e ?

S= (o4l ¢rt3) + Y
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neo ¢ 0\ P Nn=§
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int n, S;

( S=0;
: \A for (n=1; n<=k; ++n) {
\\ S =S5 +n;
I3
return S;
}
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int S;
S = Sum(10):

System.out.println("S=" + S);

System.out.println("Sum(10)=" + Sum(10) );




System.out.println("Sum(1l)=" + Sum(1l) );
System.out.println("Sum(2)=" + Sum(2) );
System.out.println("Sum(3)=" + Sum(3) );
System.out.printin("Sum(4)=" + Sum(4) );
System.out.println("Sum(5)=" + Sum(5) );
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int i;

for (i=1; 1<=10; ++1) {
System.out.println("Sum(" + i + ")=" + Sum(i) );
}




